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SECTION A

Answer ALL questions. Write your answers in the spaces provided.

1 Jackis keeping a record of the number of steps he takes each day.

Monday 8 565 steps
Tuesday 14 707 steps
Wednesday 15 323 steps
Thursday 9 788 steps
Friday 12 482 steps
| 4
e A
(@) Work out the range of the number of steps.
(2)
steps
- J
N
(b) Show a check of your answer.
(1
N J
(Total for Question 1 is 3 marks)
J
2
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(@) Work out 1 of 24
4 (1)
_ J
- D
5 (b) Work out =5 + 3
: (1)
L J
e N
(c) Write 6.384 correct to 1 decimal place.
(1)
_ _J
(Total for Question 2 is 3 marks)
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3 Alan works at a warehouse in Runcorn.
A furniture company needs deliveries from

e Runcorn to Liverpool
e Runcorn to Nantwich.

Alan needs to work out the total delivery charge for these deliveries.

He uses this map.

Liverpool
X
Runcorn
X
Chester
X

Nantwich

Wilmslow
X

X

Scale 1cm on the map is 10km on the ground

Alan uses these delivery charges.

S 6 4 0 3 6 A0 4 0 8

distance from Runcorn charge (£)
less than 20km 9.99
20km - 35km 14.99
over 35km 24.49
p
Work out the total delivery charge.
Show how you get your answer.
(4)
£
N
L (Total for Question 3 is 4 marks)
4




S

4 John works Monday to Friday.
He buys his lunch on his way to work.

Each day John buys a sandwich, a bottle of water and a bag of crisps.

Shop A Shop B
£3 meal deal
any sandwich £2.85
a bottle of water 60p any sandwich
a bag of crisps 85p a bottle of water

a bag of crisps

John thinks he will save more than £7.50 a week if he buys his lunch each day from
shop B instead of shop A.

Is John correct?
You must show your working.

(4)

(Total for Question 4 is 4 marks)

TOTAL FOR SECTION A = 14 MARKS
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